 Apple Addition
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- Solve the problems on the kitty
~ chalkboards. Find the answer on the
- matching apple and put them together.







- < . 3 L‘
| i el \
N o .
| |
B \ { il | \ I 7
: , .
3 ,‘
3 - m.
_— il .
LS |
_.___j____ —_—

| : 3 _
N e 3
, |
[. , bl 4 .....
-n ” ,..- / ——1
.,v, I g
e il | |
' | el
5 |
SR __._.______ -




e
e | . !
3l
A Hiomifls” __—
| | e 1Ly
i ! | Ul g \
. -y | b
_4_..,
.__;____ i

=
E
E_i 4

oA



|
e
|
|

||
“!I|l|.'t"~._f\..l\\m'\.JF-J;:::::::::
X | E::.:Z“ '?

Illhl Bl
|| W-.
{
r(’J
te.
'y

|
i

S o =) : .—AI‘“! :
: 1= v >
=~ =




EE::;E. - 3,__;‘_2___7.

9




)
lilli

()

).

|
”illll

)

(o

4
W"';

(5

)7
N

N

o

7

N

N —— 4
~ =
_




